14~15%9H4 <%

GRIHEY

A gto] AL A3 AEAE Bola Y& 7}

49 T£Y HAFL L5 HIAAHE U
R ok

'90d 3¢9 17YURE 4€ 17974A9] A= A
A7} RS B ¥ S E 7HE 2 13723 9, A7}
AL 3wpHYgo g 1dd 2 7|7ty vus) B
W B &E 7L 3vHA A (34.7% ) o], AE7HA
L 7HY(24.1%) 0] FEH At

3HH A3 g/ =ej A g A ES S AR
W, AEA Y N =AY g F vtel 4ot
19%H6 962724 Ad 5719 208H 7932
TR 4H7TH705(24%)7F E0] EoH, &=
) 714 (R Skgd) > 2339939 o2 Ad F7]
o 14794492 v 69499(37.2% ) ©]
A5 EAL, AL 49 699 235983,
HAA 714 39 2199 2329274 S YER T

QARG ¢ HurtAL 2716916948
179), AA7IA L 2329329¢ (32 17¥)e =
Pt TujrhA L 24279 S BYa, Al 2
& 717be] 147944 97 W w3 -2 6983
(392%)°] B+HAL, A&E Frtel5= 2718

ATNe6TZ AL AR AY E7R

6W325(22% )7} 215Utk

HFAGL P TujrtZo] 2:3wgdo s
o|F H1717 L2 236369 (48 9Y), AA7HE
2 2419289 (3¢ 109) & YEFY T, Ad 2L
717+9] 1469769 B ohE 69329 (37.7% ) o] A4
SH AL, BEutg e 207ATEITFZ 19
%719 2ute5M38FH T 1H1M99F(45%)
7} F7HE Ak

ARG AT 5U3HINI9FZ 1
dd 7180 735985(12.2%) 7 2031, ¥
T = 7hA & 234439 02 Ad 5719 1346
o5 A BT} 79489 (44.1% ) 0] 45 o, F
32 HA7A L 49 1699 2H79429, 39 17
do] 2419M70¢ & YEM T

FFA G muj7lA L 2304w3h 00 H a7}
2L 496U 9 2HTH18Y S, A 71739 17
U] 2H87Y S H QI Adsf 22 7|3He] 145
g7 Btk 8M6d(505% ) 0] AeHA, 4
gy T4 1TMU3sTFE Al 5719 978y
FHROE 69355(65%) 7t o5t

3Hd '90d 3¥ Al YU FASTIE
4303 F2 A 370 ) 48R FE T
4978 A F(104% )7k 194 9] 49932 d F 5
o} 627193 F(12.8% ) 7F A H Ak ol F 270 €

=

=

Z
-

110 €ZHF= 1990. 5



OlEQl 2=A18

o] ghe 1267 H T 2~470 Y H & 144753
T 4~6/M e a2 F, 121 870 E o]
58RHAF7} A E I §l

53] BESFE 59HMATEA INEAHEY 3
HAF(54%), 1dART 17970 5(23.0%)

A3 ArFAE HYoH, olF FHEE
& 5U3H T2 YEht

T3 ASFFE 1695338 MEAEY 3
3 %(16.7%), 1d¥EY 7964 3(315%)
7F 2o, 23|18 39 T4 2652 E
AEOE 25(83%), 1988 TG+ 65(30.0%)
o] Z7V5H 2 YR,

90'd 399 FEALBAAFL 297H3 5991
Eo g 13dA 4THAHIMSERT T8 4718
H3W54E(14.1%) 0] ZAHAY, F=FI7t =
ARG 1270 FAY ESFEAF L TH2ELR
1349 W57 R T} 1M64%E(294% ) 0] 5o1%

¢

AEq =5z FAF St
= 8 A gl thste] MEAl= 3
AL B3l FAFG detd =FFPA FA
A AE7ske AYAAE S AAAGA o
EAAGA A FAsHH A=) AL A2
wet 228 A, FAYFY SstdE Ade

T8 3tu o d&g 73

5]
3+ 7lolgh ¥t}
A ?:':Ejé' 71&%

90 399 HAANSFIF 3~59 £31E
4~693 9 HAF47} 93U ATEZA I/HEAH
BOE 109735 (102%), VN AR = 445
(04%)7} 2921, 5~694°l &3+2 2~471¢
Ho 1Y HFE Y ARG 36UTH T
(20.3%), 14 AR o= 10983 F(7.0%) 7} 42}
A A

(&#1) 904 3 =HX| AT

2w ’90.3% |’89.12% | '893¥ | 5 & (%)

& (A) (B) (C) | AB | AC
€7 w1267 | 1,246 | 1,593 17| —205
2~47M9 | 1445 | 1812 | 1553 | —203| —70
4~6 7 938 | 1,045 942 | —102| —04
6~8 ~ 72 75 112 —40| —357
/e o] | 581 622 732 —66| —20.6
A 4303 | 4801 | 4932 | —104| —12.8
HE 594 628 771 —54| —230
6~871 4% 53 48 85 104| —37.7
g7l Eol A} | 541 580 686 -6.7| —211
AHg 3 F 165 198 241 | —167| —315

(£2) YTAE MAZH(°90.38)

(49 : &)

P 9039 | '902€9 |'8932 | 5 & (%)
= (A) (B) (C) | AB | AC
3 o o] & 61,119 51480 | 67068 | 187 —89
5 AW S 8152731 | 155,162 [ 168781 | —16| —95
= 8179109 | 73248 | 103,633 80| —237
= s 632 663 | 2453 | —47| —742
Al 293,591 | 280,553 | 341,945 47| —141

B ARFrE 7T TRE AEET o1

T390 399 FEAE A EFFT 3~5€
o £3td HAY AR SA= Z HSE A7)
ALE7F 1397HEY 9712 1 d A v
A SHEL 74%, B K E AVIAE = 92% 7}

A7 Rt 193 4EAS wojA el

H2MF A% BaHD Yok
2

A0 ojojd Aoz Ho 4~599] A gk
L H&E 7HE L 145 A 158, AFEZHE
SUSH LA 49, 123 =mjrbA 2 234
QoA 236W Aholl A BFA S el Zlog
e}, @

3

Y= 1990. 5 111



